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3. DISCOUNT SOLUTION

1. (d) M.P of an article (,d oLrq vafdr ewY;) = Rs.
800

After Discount (NwV ds ckn) = 90% of 800

= 
90

100
× 800 = Rs. 720

Profit (ykHk) = 20%

C.P. of an article (,d oLrq dk Ø; ewY;)

= 
720 ×100

120
= Rs. 600

2. (d) S.P. 
175 

×25 

7(8 – 1) 

M.P. 
200 

×25 

8 

12
1
2

% = 
Discount1
M.P8





SP = 8 – 1 = 7
Profit

25% = 
Profit1
C.P.4





S.P. = C.P. + profit = 4 + 1 = 5

C.P. 
140 

×35 

4

S.P. 
175 

×35 

5 

C.P. of the article (oLrq dk Ø; ewY;) = Rs.
140
Alternate:

M.P. of an article (oLrq dk vafdr ewY;) = Rs.
200

After Discount, S.P. (NwV ds ckn foØ; ewY;)

= 87
1
2

% of 200

= 
87.5
100

× 200 = Rs. 175

Profit (ykHk) = 25%

C.P. of the Article (oLrq dk Ø; ewY;)

= 
S.P×100

100 + Profit%

= 
175 ×100
100 + 25

= 
175 ×100

125
 = Rs. 140

3. (b) C.P. 
100 

S.P. 
110 

gain
10% 

80 100 
20% 

Discount 

M.P. 

800 880 1100 

11000   880

800 
880 × 800

1100
 = Rs. 640

Alternate:

M.P. of the Article (oLrq dk vafdr ewY;)
= Rs. 880

After Discount S.P. of the Article (NwV ds

ckn oLrq dk foØ; ewY;)

= 
880×80

100
 = Rs. 704

C.P. of the Article (oLrq dk Ø; ewY;)

= 
704 ×100

110
= Rs. 640

4. (a) L.P. of fan (ia[ks dk vafdr ewY;)
= Rs. 1500
After Discount, L.P

(NwV ds ckn vafdr ewY;) = 80% of 1500

= 
80

100
×1500 = Rs. 1200

Net Price of fan (ia[ks dk okLrfod ewY;)

= 1104

Difference (varj) = 1200 – 1104 = Rs. 96

Additional discount (vfrfjDr NwV)

= 
96

1200
×100 = 8%

5. (c) M.P. of an article (,d oLrq dk vafdr ewY;) =
Rs. 500
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After Discount, S.P. of an article (NwV ds

ckn oLrq dk foØ; ewY;)

= 500 × 
80 90

×
100 100

= Rs. 360

6. (b) Ist Discount (NwV) = 40%

Next effect of two successive Discount (nks

Øekxr NwV nsus ij ifj.kkeh NwV)

= 36 + 4 –
36 × 4
100

= 40 – 1.44

Percentage Difference (» varj) = 40 – 40
+ 1.44

Difference between Discount (NwVksa ds chp

varj)

= 
144 1

×
100 100

× 1,00,000

= Rs. 1440

7. (d) Effect pf two successive discount (nks Øekxr

NwV nsus ij ifj.kkeh NwV)

= 10 + 30 – 
10 × 30

100

= 40 – 3 = 37%

8. (b) Let CP of goods (ekuk fd oLrq dk Ø; ewY;) =
Rs. 100

M.P of goods (oLrq dk vafdr ewY;)

= 110% of 100 = 
110
100

×100

  = Rs. 110

After Discount S.P. of goods (NwV ds ckn oLrq

dk foØ; ewY;) = 90% of 110

= 
90

100
×100 = Rs. 99

Loss (gkfu) = 100 – 99 = Rs. 1

Loss (gkfu) % = 
1

100
×100 = 1%

Alternate:

Loss (gkfu) % = 
 × y

100
x

%

Loss (gkfu) % =
10 ×10

100
 = 1%

9. (b) Let the C.P. of goods (ekuk fd oLrq Ø; ewY;)
= Rs. 100

M.P. of goods (oLrq dk foØ; ewY;) = 120% of
100

(M.P vafdr ewY;) = (100 + 20)% of (C.P. Ø;

ewY;)

= 
120
100

×100 = Rs. 120

After Discount S.P. of goods (NwV ds ckn oLrq

dk foØ; ewY;) = 92% of 120

= 
92

100
×120 = Rs. 110.4

Profit (ykHk) = 110.4 – 100 = Rs. 10.4

Profit (ykHk)% = 
10.4
100

×100 = 10.4%

10. (c) Discount (N w V)  = 2.5% = 
2.5
100

 =

Discount1
M.P40





M.P. (vafdr ewY;) = Rs. 40

Discount (NwV) = Rs. 1
C.P = 40 – 1 = Rs. 39

39  39 (Actual CP okLrfod Ø; ewY;)

40  40

11. (c) C.P. of Article (oLrq dk Ø; ewY;) = 60% of
900

= 
60

100
×900 = Rs. 540

S.P. of Article (oLrq dk foØ; ewY;) = Rs. 900

Profit (ykHk) = 900 – 540 = Rs. 360

Profit (ykHk)% = 
360
540

×100

= 
200

% =
3

2
66 %

3

12. (d) Let the C.P. of Ist and IInd article (ekuk fd

igyh rFkk nwljh oLrq dk Ø; ewY;) = Rs. x & Rs. y

According to question (iz'ukuqlkj),
15% of x = 20% of y

 
15

100
× x = 

20
100

× y
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20 4
= =

y 15 3
x

By option only d is 4 : 3 sequence is Rs.
80 and Rs. 60

(dsoy fodYi (d) Rs. 80 rFkk Rs. 60 lgh vuqikr

4 : 3 esa mifLFkr gS)
If (None of these) is given in option then

it will be the correct option. (;fn fodYi esa

blesa ls dksbZ ugha fn;k x;k gS rks ;g lgh fodYi gS)

13. (c) M.P. of a watch (?kM+h dk vafdr ewY;) = Rs.
720

After Ist Discount (igyh NwV ds ckn) = 90%
of 720

= 
90

100
× 720 = Rs. 648

C.P. of watch (?kM+h dk Ø; ewY;) = Rs. 550.80

Difference (varj) = 648 – 550.80 = Rs.
97.20

IInd Discount (nwljh NwV)

= 
97.20
648

×100

= 
9720
648

= 15%

14. (c) M.P. of chair (dqlhZ dk vafdr ewY;) = Rs. 800

After Discount Price of chair (NwV ds ckn

dqlhZ dk ewY;)

= 800 × 
90 85

×
100 100

= Rs. 612

After Transportation (;krk;kr ds ckn)
= 612 + 28
= Rs. 640

S.P of chair (dqlhZ dk foØ; ewY;) = Rs. 800

Profit (ykHk) = 800 – 640 = Rs. 160

Profit (ykHk) % = 
160
640

×10 = 25%

15. (c) Let the C.P. of goods (ekuk fd oLrq dk Ø;

ewY;) = Rs. 100

M.P. of goods (oLrq dk vafdr ewY;)
= 120% of 100
= Rs. 120

S.P. after Discount (NwV ds ckn foØ; ewY;) =
70% of 120 = Rs. 84

Loss (gkfu) = 100 – 84 = Rs. 16

Loss (gkfu)% = 
16
100

×100 = 16%

Alternate:

Formula (lw=k) = x   y 
y

100
x

Loss (gkfu)% = 20 – 30 – 
20 × 30

100

= – 10 – 6 = – 16% (loss)

16. (b) Let MP of 1 Pen (ekuk fd 1 dye dk vafdr

ewY;) = Rs. 1

 CP of 40 pen (40 dyeksa dk Ø; ewY;) =
Rs. 36
 SP of 40 pen (40 dyeksa dk foØ; ewY;)

= 36 × 
99

100
 = Rs. 39.6

 Profit (ykHk)%

= 
39.6 – 36

36
×100 = 10%

17. (b) M.P. of watch (?kM+h dk vafdr ewY;) = Rs.
1000

After Ist discount (igyh NwV ds ckn) = 90%
of 1000

= 
90

100
×1000 = Rs. 900

C.P. of watch (?kM+h dk Ø; ewY;) = Rs. 810

Difference (varj) = 900 – 810 = Rs. 90

IInd Discount% (nwljh NwV dk izfr'kr)

= 
90
900

×100

= 10%

18. (c) Equivalent to a single discount (,d NwV

ds lerqY;)

= 10 + 20 – 
10 × 20

100

= 30 – 2 = 28%

19. (c) Equivalent to a single discount (,d NwV

ds lerqY;)

= 15 + 10 – 
15 ×10

100

= 25 – 15 = 23.5%
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Alternate:

M.P. (vafdr ewY;) = Rs. 100

C.P. (Ø; ewY;)

= 100 × 
85 90

×
100 100

 = Rs. 76.5

Difference (varj) = 100 – 76.5 = 23.5

Difference (varj)% = 
23.5
100

×100

        = 23.5%

20. (c) List price of a clock (,d ?kM+h dk vafdr ewY;)
= Rs. 160

After Ist Discount (igyh NwV ds ckn)

= 160 × 
90

100
= Rs. 144

C.P. of a clock (?kM+h dk Ø; ewY;)
= Rs. 122.40

Difference (varj) = 144 – 122.40
= Rs. 21.60

IInd discount (nwljh NwV)

= 
21.60
144

×100

= 
2160
144

= 15%

21. (a) M.P. of the article (oLrq dk vafdr ewY;) = Rs.
240

After Discount, S.P. of the article (NwV ds

ckn oLrq dk foØ; ewY;)

= 240 × 
90 95

×
100 100

 = Rs. 205.20

22. (b) C.P. of article (oLrq dk Ø; ewY;) = Rs. 100

Marked Price (vafdr ewY;) = 130% of 100
= Rs. 130

After Discount Price (NwV ds ckn ewY;)

= 130 × 
90 90

×
100 100

 = 105.30

Difference (varj) = 105.30 – 100 = 5.3%

23. (c) Let the price is (ekuk fd ewY;) = Rs. 100

After discount Price (NwV ds ckn ewY;)

= 100 × 
90 80 75

× ×
100 100 100

= Rs. 54

Difference (varj) = 100 – 54 = 46
So, 46 is a single discount percent of this

series (vr% bl Js.kh dh ,dek=k NwV 46 izfr'kr gS)
Alternate:

Successive Discount of 10% of 20% (10»

rFkk 20» ds Øfed NwV)

= 10 + 20 – 
10 × 20

100
 = 28%

Then, successive Discount of 28% and

25% (28» rFkk 25» ds Øfed NwV)

= 28 + 25 – 
28 × 25

100
 = 46%

24. (b) Let the price is (ekuk fd ewY;) = Rs. 100

After Discount Price (NwV ds ckn ewY;)

= 100 × 
90 80 60

× ×
100 100 100

= Rs. 43.2

Difference (varj) = 100 – 43.2 = 56.8
So, 56.8% is a single discount percent

of this series (bl Js.kh dh ,dek=k NwV 56.8%

gS)
Alternate :
Successive Discount of 10% and 20%

(10» vkSj 20» ds Øfed NwV)

= 10 + 20 – 
10 × 20

100
= 28%

then, successive Discount of 28% and

40% (28» vkSj 40» ds Øfed NwV)

= 28 + 40 – 
28 × 40

100
 = 56.8%

25. (b) Let the C.P. of an article (ekuk fd ,d oLrq

dk Ø; ewY;) = Rs. 100

M.P. of an article (oLrq dk vafdr ewY;)
= Rs. 110 (10% above)

S.P. of an article (oLrq dk foØ; ewY;)

= Rs. 99 (10% discount NwV)

Difference (varj) = 110 – 99 = Rs. 11

Discount (varj)% = 
11

110
×100 = 10%

Alternate:

C.P. 

100 

M.P. 

110 

gain
10% 

S.P. 

99
    10%
Discount 

Discount (NwV) =
110 – 99

110
×100 = 10%
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26. (d) Let C.P. of goods (ekuk fd oLrqvksa dk Ø; ewY;)
= Rs. 100

M.P. of goods (oLrqvksa dk vafdr ewY;)
= Rs. 130 (30% above)

S.P. of goods (oLrqvksa dk foØ; ewY;)
= 90% of 139
= Rs. 117

gain (ykHk) = 117 – 100 = Rs. 17

gain (ykHk)% = 
17
100

×100 = 17%

Alternate:

C.P. 

100 

M.P. 

130 

gain
30% 

S.P. 

117
    –10%
Discount 

gain (ykHk)% = 
17
100

×100 = 17%

27. (b) M.P. of cycle (lkbZfdy dk vafdr ewY;) = Rs.
1100

After Discount S.P. (NwV ds ckn foØ; ewY;) =
90% of 1100 = Rss. 990

gain (ykHk) = 10%

C.P. (Ø; ewY;) = 
990 ×100
100 +10

= 
990 ×100

110
= Rs. 900

Alternate:

900×10
11 

C.P. S.P. M.P. 

=900 11
10

990 1100
–10%

C.P. = Rs. 900

28. (a) M.P. of an electric Iron (fctyh ds vk;ju dk

vafdr ewY;) = Rs. 690

After Discount, S.P. (NwV ds ckn foØ; ewY;)
= 90% of 690 = Rs. 621

Gain (ykHk) = 8%

C.P. of an electric Iron (fctyh ds vk;ju dk

Ø; ewY;) = 
621×100
100 + 8

= Rs. 575

No Discount, gain of Iron (fcuk fdlh NwV ds

vk;ju ij ykHk) = 690 – 575 = Rs. 115

gain (ykHk)% = 
115
575

×100 = 20%

Alternate:

C.P. 

100 

M.P. 

108 

gain
8% 

S.P. 

120
    –10%

Gain (ykHk)% = 
20

100
×100% = 20%

29. (a) S.P. of Article (oLrq dk foØ; ewY;) = Rs. 387

M.P. of Article (oLrq dk vafdr ewY;)

=
387 ×100

86

= Rs. 450

30. (d) C.P. of an article (oLrq dk Ø; ewY;) = Rs.
900

S.P. of an article (oLrq dk foØ; ewY;)

= 900 × 
110
100

 = Rs. 990

M.P. of an article (oLrq dk vafdr ewY;)

= 990 × 
100
90

 = Rs. 1100

Alternate:
Formula:

M.P. (vafdr ewY;)

= C.P. × 
100 + gain

100 – Discount

C.P. (Ø; ewY;) = 900 × 
100 +10
100 –10

= 900 × 
110
90

= Rs. 1100

31. (c) Let the MP of 1 article (ekuk fd ,d oLrq dk

vafdr ewY;) = Rs. 1

MP of 15 article (15 oLrqvksa dk vafdr ewY;) =
Rs. 15

SP of (15 +1) article (15+1) oLrqvksa dk foØ;

ewY;) = 15 × 
96

100
 = Rs. 14.40

CP of 16 article (16 oLrqvksa dk foØ; ewY;)

= 
14.40
135

× 100 = Rs. 
32
3

CP of 1 article (,d oLrq dk Ø; ewY;)

= 
32

3 ×16
 = Rs. 

2
3
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Required % = 

2
1–

3
2
3

×100

= 
1 3

×
3 2

×100 = 50%

32. (c) M.P. of scooter (LdwVj dk vafdr ewY;) = Rs.
36,000

According to question (iz'ukuqlkj)

20,000 × 
8

100
+ 10,000 × 

5
100

+ 6,000

×
100

x

= 36,000 × 
7

100

1600 + 500 + 60x = 2520
60x = 420

x = 
420
60

 = 7%

33. (c) Let the total sale (ekuk fd dqy fcØh) = Rs.x

According to question (iz'ukuqlkj)

10,000 × 
5.5
100

+ (x – 10,000) × 
6

100
=1990

550 + 
6

100
x – 600 = 1990

6
100

x = 2040

x = Rs. 34,000
34. (b) House wife spend Rs. 25 on dress and

save Rs. 2.50 (,d x`fg.kh iks'kkd ij #- 25 [kpZ

djrh gS rFkk #- 2-50 cpr djrh gS)
Total Transaction
= 25 + 2.50 = Rs. 27.50

save% = 
2.50
27.50

× 100 = 
100
11

%

= 9% (approx)

35. (c) L.P. of an article (ekuk fd oLrq dk vafdr ewY;)
= Rs. 2,000

After Discount, S.P. (NwV ds ckn foØ; ewY;)

= 2,000 × 
80 90

×
100 100

= Rs. 1440

36. (b) Ist Discount (igyh NwV) = 30%

Net two successive Discount (nks Øfed NwV)

= 20 + 10 – 
20 ×10

100

Difference (varj) = 30 – 28 = 2%

Difference Amount (varj jkf'k)
= 2% of 550

= 
2

100
× 550 = Rs. 11

37. (b) Let the C.P. of goods (ekuk fd oLrq dk Ø;

ewY;)
= Rs. 100

S.P. of goods (oLrq dk foØ; ewY;)
= 120% of 100
= 120

M.P. of goods (oLrq dk vafdr ewY;)

= 120 × 
100 400

=
90 3

Difference of M.P and C.P (vafdr ewY; rFkk

Ø; ewY; esa varj) = 
400
3

–100

Difference (varj) % = 

100
3

100
×100 =

100
3

%

= 33
1
3

%

Alternate:
C.P S.P M.P
5 6

9 10

Profit = 20% = 
Profit1
C.P.5





Discount = 10% = 
Discount1
M.P.10





C.P S.P M.P
45 54 60

Difference % = 
60 – 45

45
×100

= 
15
45

×100 = 33
1
3

%
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38. (a) C.P S.P M.P
100 117(13×9) 90(10×9)

100 (100 × 10) (13 × 10×9)
(13×100) 1000 1170
1300
LCM of 117 and 90
Profit% = 1300 – 1000 = Rs. 300

Profit % = 
300

1000
×100 = 30%

39. (a) Let the C.P (ekuk fd Ø; ewY;) = Rs. 100

M.P. (vafdr ewY;) = 125% of 100 = Rs.125

S.P. (foØ; ewY;) = 84% of 125

= 
84

100
×125

= Rs. 105
gain = 105 – 100 = Rs. 5

gain% = 
5

100
×100 = 5%

40. (c) M.P of racket (jsdSV dk vafdr ewY;) = Rs. 30

After Discount S.P. (NwV ds ckn foØ; ewY;) =
85% of 30

= 
85

100
×30 = Rs. 25.50

S.P. of racket (jsdSV dk foØ; ewY;)
= 25.50 – 1.50 = Rs. 24

C.P. of racket (jsdSV dk Ø; ewY;)

= 24 × 
100
120

= Rs. 20
41. (a) Suppose 80 goods in = Rs. 80 in

C.P (ekuk fd 80 oLrqvksa dk Ø; ewY;)
M.P. = 120% of 80 = Rs. 96

Half stock sold at M.P. (vk/k Hk.Mkj vafdr

ewY; ij fcd x;k) = 
96
2

= Rs. 48

One quarter sold at 20% discount

(,d pkSFkkbZ 20» NwV ij fcd x;k)

= 
80

100
× 24

= Rs. 19.20

One quarter sold at 40% discount (,d

pkSFkkbZ 40» NwV ij fcd x;k)

= 
60

100
× 24

= Rs. 14.40

Total sold (dqy fcØh)
= 48 + 19.20 + 14.40
= Rs. 81.60
gain = 81.60 – 80 = Rs. 1.60

gain% = 
1.60
80

×100 = 2%

42. (c) C.P. of motor car (eksVjdkj dk Ø; ewY;) =
Rs. 17,000

M.P. of motor car (eksVjdkj dk vafdr ewY;)

= Rs. 17,000 × 
100
85

= Rs. 20,000

After successive Discount, C.P. (Øfed NwVksa

dks ckn Ø; ewY;)

= 20,000 × 
95 90

×
100 100

= Rs. 17,000

43. (d) CP

100

MP

120

SP

25%

108
10%

Profit% = 
108 –100

100
×100

= 
8

100
×100 = 8%

44. (d) CP

100

SP

108(12×9)

MP

10%

90(10×9) 100

(100×10) (12×9×10) (100×12)
1000 1080 1200

8%

List Price % above the cost Price (Ø; ewY;

ls vf/d izfr'kr vafdr ewY;)

= 
1200 –1000

1000
×100

= 
200

1000
×100 = 20%
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45. (b) C.P. of article (oLrq dk Ø; ewY;) = Rs. 180

S.P. of article (oLrq dk foØ; ewY;) = 120%
of 180

= 
120
100

×180 = Rs. 216

M.P. of article (oLrq dk vafdr ewY;)

= 216 × 
100
90

= Rs. 240

46. (b) CP

100

SP

125(25×5)

MP

10%

90(18×5) 100

(100×18) (25×5×18) (25×100)
1800 2250 2500

25%

1800  900

2500
900 ×2500

1800
 = Rs. 1250

Alternate:

C.P. of article (oLrq dk Ø; ewY;) = Rs. 900

S.P. of article (oLrq dk foØ; ewY;) = 125%
of 900

= 
125
100

× 900 = 1125

M.P. of article (oLrq dk vafdr ewY;)

= 1125 × 
100
90

 = 1250

47. (d) L

120  500

90 
500×90

120
 = Rs, 375

Alternate:

M.P. of article (oLrq dk vafdr ewY;)
= Rs. 500

S.P. of article (oLrq dk foØ; ewY;)
= 90% of 500

= 
90

100
× 500 = 450

C.P. of article (oLrq dk Ø; ewY;)

= 450 × 
100
120

 = Rs. 375

48. (d) M.P. of watch (?kM+h dk vafdr ewY;) = Rs.
800

After Ist Discount price (igyh NwV ds ckn

ewY;) = 90% of 800

= 
90

100
× 800

= Rs. 720

S.P. of watch (?kM+h dk foØ; ewY;) = Rs. 612

IInd Discount% (nwljh NwV)

= 
720 – 612

720
×100

= 
108
720

×100 = 15%

49. (d) M.P. of an article (oLrq dk vafdr ewY;)

= Rs. 450

After Ist discount (igyh NwV ds ckn)

= 450 × 
90

100
 = Rs. 405

C.P. of an article (oLrq dk Ø; ewY;)
= Rs. 344.25

Difference (varj) = 405 – 344.25
= Rs. 60.75

IInd Discount (nwljh NwV)

= 
60.75
405

×100 = 15%

50. (b) Successive Discount of 10% and 20%

(10» vkSj 20» ds Øfed NwV)

= 10 + 20 – 
10 × 20

100
 = 28%

Successive discount of 28% and 30%

(28» vkSj 30» ds Øfed NwV)

= 28 + 30 – 
28×30
100

 = 49.6%

51. (d) S.P. of the radio (jsfM;ks dk foØ; ewY;)
= Rs. 704

M.P. of the radio (jsfM;ks dk vafdr ewY;)

= 704 × 
100 100

×
80 88

 = Rs. 1,000

52. (c)
(i) 25% and 15%
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= 25 + 15 – 
25 ×15

100
 = 36.25%

(ii) 30% and 10%

= 30 + 10 – 
30 ×10

100
= 37%

(iii)35% and 5%

= 35 + 5 – 
35 × 5
100

= 38.25%

3rd offer is the best for customer (xzkgd

ds fy, rhljk vkWiQj lcls cf<+;k gS)

53. (b) L.P of an article (oLrq dk vafdr ewY;)
= Rs. 900

After two successive Discount (nks Øfed

NwVksa ds ckn)

= 900 × 
92 92

×
100 100

= Rs. 761.76

After Single Discount of 16% (16» dh ,d

NwV ds ckn)

= 900 × 
84

100

= Rs. 756

Seller loss in case (bl fLFkfr esa foØsrk dks gkfu

gksxh)
= 761.76 – 756
= Rs. 5.76

54. (c) L.P. of car (dkj dk vafdr ewY;) = Rs. 200000

After successive Discount (Øfed NwVksa ds

ckn) = 200000 × 
95 90

×
100 100

= Rs. 171000

S.P of a car (dkj dk foØ; ewY;)
= Rs. 179550
Profit = 179550 – 171000
          = Rs. 8550

Profit % = 
8550

171000
× 100

    = 5%

55. (d) L.P of article (oLrq dk vafdr ewY;) = Rs. 800

After successive Discount, C.P. (Øfed NwVksa

ds ckn Ø; ewY;)

= 800 × 
75 85

×
100 100

= Rs. 510

Let new list price (ekuk fd u;k vafdr ewY;) =
Rs. x

According to question (iz'ukuqlkj)
120% of 510 = 90% of x
120 × 510 = 90 × x
x = Rs. 680

56. (d) Single discount = 40%
The successive discount 36% and 4%
= 36 + 4 – 1.44 = 38.56%
Difference amount = 1.44% on 500

= 
1.44
100

× 500

= Rs. 7.20

57. (b) C.P. S.P. M.P. 

10% 264 300 

80 88 

12% 

88   264

80 
264 × 80

88
= Rs. 240

gain % = 
300 – 240

240
×100

= 
1
4

× 100 = 25%

Alternate :

M.P of an electric Iron (fctyh ds ,d vk;ju

dk vafdr ewY;) = Rs. 300

S.P. of an electric Iron (fctyh ds ,d vk;ju

dk foØ; ewY;)

= 300 × 
88

100
 = Rs. 264

C.P. of an electirc Iron (fctyh ds ,d vk;ju

dk Ø; ewY;)

= 264 × 
100
110

 = Rs. 240

No discount allowed, gain (dksbZ NwV ugha nsus

ij ykHk) = 300 – 240 = Rs. 60

gain % = 
60
240

×100% = 25%
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58. (a) Profit 25% = 
Profit1
C.P.4





Discount 20% = 
Discount1
M.P.5





C.P. S.P. M.P. 

4 5 

4 5 

(4×4) (5×4) (5×5) 

16 20 25 

12% 

25% 

Sold on M.P. gain (vafdr ewY; ij cspus ij

ykHk) = 25 – 16 = 9

Gain % = 
9

16
×100 = 56.25%

59. (a) 20%  150

100% 150 × 5 = Rs. 750

80% 
750×80

100
= Rs. 600

Thus, he pay Rs. 600 for the shirt

(mlus deht ds fy, #- 600 dk Hkqxrku fd;k)
60. (c) S.P. of an article = Rs. 660

C.P. of an article = 660 × 
100
110

      = 600

M.P. of an article = 600 × 
100
75

      = Rs. 800
61. (b) M.P. of an article = Rs. 25,000

After Discount, C.P. (NwV ds ckn Ø; ewY;)

= 25,000 × 
80 95

×
100 100

= Rs. 19,000

After Repair, C.P. (ejEer ds ckn Ø; ewY;)
= 19000 + 1000
= Rs. 20,000
S.P. of an article = Rs. 25,000

gain % = 
25,000 – 20,000

20,000
×100

= 
1
4

×100 = 25%

62. (c) Let the M.P. of shirt and trousers is Rs.

100 and Rs. 200 (ekuk fd deht rFkk irywu

dk vafdr ewY; Øe'k% #- 100 vkSj #- 200)
shirt C.P. = 60% of 100 = Rs. 60
Total C.P. of shirt and trousers

(deht rFkk irywu dk dqy Ø; ewY;)
= 70% of 300

= 
70

100
×300 = Rs. 210

C.P. of trousers (irywu dk Ø; ewY;)
= 210 – 60 = Rs. 150

Discount of trousers (irywu ij NwV)
= 200 – 150 = Rs. 50

% = 
50
200

×100 = 25%

63. (c) L.P. = Rs. 1400

After Ist Discount (igyh NwV ds ckn)

= 
90

100
×1400

= Rs. 1260

Additional Discount % (vfrfjDr NwV)

= 
1260 –1200

1260
×100

= 
100
21

% = 4
16
21

%

64. (a) M.P. of pen (dye dk vafdr ewY;) = Rs. 12

After Ist Discount (igyh NwV ds ckn)

= 
85

100
×12

= Rs. 10.20
S.P. = Rs. 8.16

IInd Discount % (nwljh NwV)

= 
10.20 – 8.16

10.20
×100

= 
2.04

10.20
×100 = 20%

65. (b) M.P. of an article (oLrq dk vafdr ewY;) = Rs.
920

After Ist Discount (igyh NwV ds ckn)
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= 
85

100
×920 = Rs. 782

Customer Paid (xzkgd }kjk fd;k x;k Hkqxrku) =
Rs. 742.90

IInd Discount % (nwljh NwV)

= 
782 – 742.90

782
×100

= 
39.10
782

×100 = 5%

66. (c) M.P. of watch (?kM+h dk vafdr ewY;) = Rs. 820

After Ist Discount (igyh NwV ds ckn)

= 
80

100
× 820 = Rs. 656

men Purchased (O;fDr }kjk [kjhnk)
= Rs. 570.72

IInd Discount % (nwljh NwV)

= 
656 – 570.72

656
×100

= 
85.28
656

×100 = 13%

67. (a) M.P. of bicycle (lkbZfdy dk vafdr ewY;)
= Rs. 2000
After two successive Discount of 20%

and 10% (20» rFkk 10» ds nks Øfed NwVksa ds

ckn)

= 2,000 × 
80 90

×
100 100

= Rs. 1440

Additional discount 5% for cash payment

(udn Hkqxrku ds fy, 5» dh vfrfjDr NwV)

= 1440 × 
95

100
= Rs. 1368

68. (a) Ist Discount (igyh NwV) = 40%

Two successive Discount (nks Øfed NwV)

= 30 + 10 – 
30 ×10

100

= 40 – 3

Difference (varj) = 40 – 40 + 3 = 3%

Difference amount (varj jkf'k)
= 3% of 500 = Rs.15

69. (a) M.P. of the article (oLrq dk vafdr ewY;) = Rs. x

According to question (iz'ukuqlkj)
80% of 70% of x = 2240

80 70
×

100 100
× x = 2240

x = Rs. 4000

70. (d) Let the M.P of cooler (ekuk fd dwyj dk vafdr

ewY;) = Rs. x

After Discount of 10%, C.P (10» dh NwV ds

ckn Ø; ewY;) = 
90

100
x

After Discount of 12%, C.P. (12» dh NwV ds

ckn Ø; ewY;) = 
88

100
x

According to question

90
100

x – 
88

100
x = 35

2
100

x
 = 35

x = 
35 ×100

2
= Rs. 1750

Alternate:
Let M.P. 100 units

100

90 88

120%10%

2 units  35

100 units  35 × 50 = Rs. 1750

71. (a) Let the M.P. of item (ekuk fd oLrq dk vafdr

ewY;) = Rs. 100

S.P. of item (oLrq dk foØ; ewY;)

= 
90

100
×100 = Rs. 90

C.P. of item (oLrq dk Ø; ewY;)

= 90 × 
100
115

Ratio of C.P and M.P. (Ø; ewY; rFkk vafdr

ewY; dk vuqikr)

= 

100
90×

115
100
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= 
90 18

=
115 23

C.P. : M.P. = 18 : 23

72. (c) C.P. of an article (oLrq dk Ø; ewY;) = Rs. 100

S.P. of an article (oLrq dk foØ; ewY;)
= 120% of 100 = Rs. 120

M.P. of an article (oLrq dk vaafdr ewY;)

= 120 × 
100
96

= Rs. 125

73. (a) Let the M.P of toy (ekuk fd f[kykSus dk vafdr

ewY;) = Rs. 100

S.P. of toy (f[kykSus dk foØ; ewY;)
= 90% of 100 = Rs. 90

C.P of a toy (f[kykSus dk Ø; ewY;)

= 90 × 
100
120

= Rs. 75

If Discount is 20%, S.P. (;fn NwV 20» gS rks

foØ; ewY;)
= 80% of 100
= Rs. 80
Profit = 80 – 75 = Rs. 5

Profit % = 
5
75

×100 = 
20
3

%

= 6
2
3

%

74. (c) S.P. of grinder (xzkb±Mj dk foØ; ewY;) = Rs.
1955

C.P of grinder (xzkb±Mj dk Ø; ewY;)

= 1955 × 
100
115

= Rs. 1700

M.P. of grinder (xzkb±Mj dk vafdr ewY;)

= 1700 × 
100
85

= Rs. 2000

Discount by the retailer ([kqnjk foØsrk ds }kjk

nh xbZ NwV) = 2000 × 
15

100

= Rs. 300

75. (d) M.P. of T.V (Vhoh dk vafdr ewY;) = Rs. 16000

After Ist Discount (igyh NwV ds ckn)
= 95% of 16000

= 
95

100
×16000

= Rs. 15,200

S.P. of T.V. (Vhoh dk foØ; ewY;)
= Rs. 11,400

IInd discount % (nwljh )

= 
15200 –11400

15200
×100

= 
3800

15200
×100 = 25%

76. (c) Ist Discount (igyh NwV) = 30%
Two successive Discount to a single

Discount (nks Øfed NwVksa ds lerqY; ,d NwV)

= 25 + 5 – 
25×5
100

= 30 – 1.25

Difference (varj) = 20 – 30 + 1.25
= 1.25%

Difference amount (varj jkf'k) = 1.25% of
2,000

= 
1.25
100

× 2,000 = Rs. 25

77. (b) M.P. of a radio (jsfM;ks dk vafdr ewY;) =
Rs.4800

S.P. of a radio (jsfM;ks dk foØ; ewY;) = 90%
of 4800

= 
90

100
× 4800

= Rs. 4320

C.P. of a ratio (jsfM;ks dk Ø; ewY;)

= 4320 × 
100
108

= Rs. 4,000

If Discount is not allowed, profit (;fn NwV

ugha fn;k tkrk gS rks ykHk)
= 4800 – 4000 = Rs. 800

Profit % = 
800
4000

× 100 = 20%

78. (a) M.P. of 12 pair of socks (12 tksM+s tqM+kacks dk

vafdr ewY;) = Rs. 80
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S.P. of 12 pair of socks (12 tksM+s tqM+kacks dk

foØ; ewY;) = 90% of 80

= 
90

100
× 80 = Rs. 72

If C.P. of 12 pair of socks is Rs.72 (;fn 12

tksM+s tqM+kacks dk Ø; ewY; #- 72 gS)

C.P. of Rs. 24 = 
12×24

72
= 4 pair

79. (a) Let the M.P. (ekuk fd vafdr ewY;) = Rs. x

Single Discount (,dek=k NwV) = 30%

Two successive discount is equivalent (nks

Øfed NwVksa ds lerqY;)

= 20 + 10 – 
20 ×100

100

= 30 – 2
Difference = 2%
According to question
2% of x = 72

2
100

× x = 72

x = 
72 ×100

2

x = Rs. 3600
80. (c) Two successive discount is equivalent to

a single discount (nks Øfed NwVksa ds lerqY;

,d NwV)

= 20 + 20 – 
20×20
100

 = 36%

81. (c) Two successive discount is equivalent (nks

Øfed NwVksa ds lerqY;)

= 10 + 5 – 
10 × 5
100

= 15 – 0.5
= 14.5%

82. (d) Two successive discount is equivalent (nks

Øfed NwVksa ds lerqY;)

= 25 + 10 – 
25 ×10

100

= 35 – 2.5
= 32.5%

83. (a) Two successive Discount if equivalent (nks

Øfed NwVksa ds lerqY;)

= 20 + 5 – 
20 × 5
100

= 25 – 1
= 24%

84. (b) Let C.P. of Item (ekuk fd oLrq dk Ø; ewY;) =
Rs. 100

M.P. of Item (oLrq dk vafdr ewY;)
= 120% of 100

= 
120
100

×100 = Rs. 120

After Discount S.P. (NwV ds ckn foØ; ewY;)

= 87.5% of 120 = 
87.5
100

×120

= Rs. 105

Profit % = 
105 –100

100
×100

              = 5%

85. (a) Let C.P. (ekuk fd Ø;) = Rs. 100
M.P. = 130% of 100
         = Rs. 130

After Discount, S.P. (NwV ds ckn foØ; ewY;)
= 85% of 130

= 
85

100
×130

= Rs. 110.50

Profit% = 
110.50 –100

100
×100

   = 10.5%

86. (d) C.P. of article (oLrq dk Ø; ewY;)
= Rs. 200

S.P. of article (oLrq dk foØ; ewY;)
= 135% of 200

= 
135
100

×200 = 270

MP of article (oLrq dk vafdr ewY;)

= 
270
75

×100 = Rs. 360

87. (c) Let the C.P. of goods (ekuk fd oLrq dk Ø;

ewY;) = Rs. 100

M.P. of goods (oLrq dk vafdr ewY;)
= 140% of 100
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= Rs. 140

After Discount, S.P. (NwV ds ckn foØ; ewY;)
= 75% of 140

= 
75

100
×140

= 105

Profit% = 
105 –100

100
×100

  = 5%

88. (d) Let C.P. of goods (ekuk fd oLrq dk Ø; ewY;)
= Rs. 100

M.P. of goods (oLrq dk vafdr ewY;)
= 120% of 100 = Rs. 120

S.P. of goods (oLrq dk foØ; ewY;)
= 110% of 100
= Rs. 110

Discount % = 
10

120
×100

= 
25
3

% = 8
1
3

%

89. (b) Let the C.P. of 1 shirt (ekuk fd ,d deht dk

Ø; ewY;) = Rs. 100

M.P. of 1 shirt (,d deht dk vafdr ewY;)
= 140% of 100 = Rs. 140

S.P. of 1 shirt (,d deht dk foØ; ewY;)

= 90% of 140 = 
90

100
×140

= Rs. 126

Actual S.P. of 1 shirt (,d deht dk okLrfod

ewY;)

= 
13608

72
= Rs. 189

126  189

100 
189 ×100

126
= Rs. 150

Cost Price of per shirt is Rs. 150 (izfr deht

dk Ø; ewY; #- 150 gS)

90. (c) M.P. of an article (,d oLrq dk vafdr ewY;) =
Rs. 50

S.P. of an article (,d oLrq dk foØ; ewY;)

= 80% of 50 = 
80

100
×50 = Rs. 40

C.P. of an article (oLrq dk Ø; ewY;)

= 40 ×
100
125

 = Rs. 32

91. (a) Let the marked price (ekuk fd vafdr ewY;)
= Rs. 100

S.P of the book (iqLrd dk foØ; ewY;)

= Rs. 100 × 
90

100
= Rs. 90

CP of the book (iqLrd dk Ø; ewY;)

= 90 × 
100
112

Ratio = 

100
90×CP 112=

MP 100

= 
90 45

=
112 56

 45  :  56
Alternate :

CP 100% – D% 100% – D%
= =

MP 100% + P% 100% – L%

Here,

CP 100% – 10% 90 45
= = =

MP 100% + 12% 112 56

= 45 : 56

92. (a) Let the marked price (ekuk fd cktkj ewY;) =
Rs. x

After discount of 7% the SP (7» NwV ds ckn

foØ; ewY;) = 
93
100

x

After discount of 9%, the S.P (9» NwV ds

ckn foØ; ewY;) = 
91
100

x

93 91
–

100 100
x x

 = 15

2x = 1500
x = 750
Alternate :

Let Market Price (ekuk fd cktkj ewY;)
= 100 Units
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100

7% 9%

93 91

2 unit

2 units = 15

1 unit = 
15
2

100 units = 
15
2

×100 = Rs. 750

93. (b) Let Market price (ekuk fd cktkj ewY;) = Rs. x

Selling price after 4% discount (4» NwV ds

ckn foØ; ewY;)

= Rs. 
96
100

x

96
100

x
 = 1920

 x = 
1920 ×100

96
= Rs. 2000

Alternate :

Let Market price (ekuk fd cktkj ewY;)
= 100 units

100

96

4%

96 units = 1920

1 unit = 
1920

96
 = 20

94. (a) Let Market price (ekuk fd cktkj ewY;) = Rs.x

Selling price after 15% discount (15» NwV

ds ckn foØ; ewY;) = Rs. 
85
100

x

According to question,

85
100

x
 = 629

x = 
629 ×100

85
 = Rs. 740

Alternate

Let market price (ekuk fd cktkj ewY;)
= 100 units

100

85

15%

85 units = 629

1 unit = 
629
85

100 units = 
629
85

 × 100

= Rs. 740 Ans.

95. (c) Let Marked price (ekuk fd cktkj ewY;) =
100 units

100

76

24%
76 units = 342

1 unit = 
342
76

100 units = 
342
76

×100 = Rs. 450

96. (c) Let the amount of bill (ekuk fd jlhn dh jkf'k)
= Rs. x

According to question, 
4

100
x

 = 13

x = 
13 ×100

4
 = Rs. 325

Alternate :

Let the amount of bill (ekuk fd jlhn dh jkf'k)
= 100 units
4% of 100 units = 4 units
4 units = 13
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1 unit = 
13
4

100 units = 
13
4

×100

       = Rs. 325

97. (b) Equivalent discount (lerqY; NwV)

= 20% + 15% – 
20 ×15

100

= 35 – 3 = 32%

use formula = x + y – 
y

100
x

98. (c) Let the marked price (ekuk fd vafdr ewY;)
= 100

Final SP (vafre foØ; ewY;)

= 100 × 
90 88 95

× ×
100 100 100

= 75.24

Net discount (dqy NwV) = (100 – 75.24)
= 24.76%
Alternate :
Single equivalent discount for 10% and

12% (10» vkSj 12» ds Øfed NwVksa ds lerqY; ,d

NwV)

= 
10×12

10+12–
100

 
  

= 20.8%
Single equivalent discount for 20.8%

and 5% (20-8» vkSj 5» ds Øfed NwVksa ds lerqY;

,d NwV)

=
20.8×5

20.8 + 5 – %
100

 
  

= 24.76% Ans.

99. (d) Ist discount (igyh NwV) = 35% Single

equivalent discount of 20% each (20» ds

nks Øfed NwVksa ds lerqY; ,d NwV)

= 
20×20

20+20 – %
100

 
  

= 36%
Difference = (36% – 35%) = 1%
Let the amount of the bill Rs. x

(ekuk fd jlhn dh jkf'k x gS)


1

100
x = 22

x = Rs. 2200

100. (c) M.P of watch (?kM+h dk vafdr ewY;)
= Rs. 1600

After Ist discount of 10% (10» dh izFke NwV

ds ckn)

= 1600 × 
90

100
 = Rs. 1440

Customer pays (final S.P) vafre foØ; ewY;

= Rs. 1224

100
x

× 1440

= (1440 – 1224)
= 216

= 
216 ×100

1440

= 15% Ans.
101. (c) Single equivalent discount for 20% and

20% (20» ds nks Øfed NwVksa ds lerqY; ,d NwV)

= 20 + 20 – 
20 × 20

100

= 40 – 4 = 36%
Single equivalent discount for 36% and

10% (36» rFkk 10» ds nks Øfed NwVksa ds lerqY;

,d NwV)

= 36 + 10 – 
36 ×10

100

= 46 – 3.6 = 42.4%
102. (d) Single equivalent discount for 20% and

15% (20» rFkk 15» ds nks Øfed NwVksa ds lerqY;

,d NwV)

= 20 + 15 – 
20 ×15

100

= 35 – 3 = 32%
Now, single discount for 32% and 10%

(32» rFkk 10» ds nks Øfed NwVksa ds lerqY; ,d

NwV)

= 32 + 10 – 
32 ×10

100

= 42 – 3.2 = 38.8% Ans.
103. (b) Single equivalent discount for 20% and



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 95 ]

THATHAGAT

IN
STITUTE

10%

(20» rFkk 10» ds nks Øfed NwVksa ds lerqY; ,d

NwV)

= 20 + 10 – 
20 ×10

100

= 30 – 2 = 28%
Single equivalent discount for 28% and
5%

(28» rFkk 5» ds nks Øfed NwVksa ds lerqY; ,d NwV)

= 28 + 5 – 
28 × 5
100

= 33 – 1.4 = 31.6%

104. (c)
pq

p + q – %
100

 
  

105. (b) Let the C.P. of 1 shirt (ekuk fd ,d deht dk

Ø; ewY;) = Rs. 100

M.P. of 1 shirt (,d deht dk vafdr ewY;)
= 140% of 100 = Rs. 140

S.P. of 1 shirt (,d deht dk foØ; ewY;)

= 90% of 140 = 
90

100
×140

= Rs. 126

Actual S.P. of 1 shirt (,d deht dk okLrfod

foØ; ewY;) = 
13608

216

= Rs. 63

126   63

100 
63 ×100

126
= Rs. 50

Cost Price of per shirt is Rs. 50 (izfr deht

Ø; ewY; #- 50)

106. (b) Let the cost price (ekuk fd Ø; ewY;)
= 100 units

and the marked price (vkSj vafdr ewY;)
= 150 units

selling price (foØ; ewY;)

= 150 × 
60

100
= 90 units

Loss (gkfu)% = 
10

100
×100 = 10%

Alternate

CP 2
=

MP 3

100% – D% 2
=

100% + % 3x

100% – 40% 2
=

100% + % 3x

60 2
=

100 + 3x

x = –10%
(–) sign, shows loss

107. (d)

Let the cost price = 100 units

and the marked price = 140 units

40% increase

selling price   (foØ; ewY;)

= 140 × 
80

100
 = 112 units

Gain (ykHk)

= 
112 – 100

100
×100 = 12%

Alternate

CP 100 5
= =

MP 140 7

100 – D% 5
=

100 + % 7x

100 – 20 5
=

100 + 7x

80 5
=

100 + 7x

500 + 5x = 560
5x = 60
x = 12% (gain)

108. (d)
CP 100 20

= =
MP 145 29

100 – D% 20
=

100 + % 29x

100 – 20 20
=

100 + 29x
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80 20
=

100 + 29x

Alternate :

Let the cost price = 100 units

and the marked price = 145 units

45% increase

selling price   (foØ; ewY;)

= 145 × 
80

100
 = 116 units

Gain% = 
16
100

×100 = 16%

109. (b) Let the cost price of bag (ekuk fd FkSys dk

Ø; ewY;) = 100 units

 marked price of bag (FkSys dk vafdr ewY;)
= 150 units

Selling price of the bag (FkSys dk foØ; ewY;)

= 150 × 
80

100
 = 120 units

120 units = Rs. 840
1 unit = 7
100 units = Rs. 700 Ans.

110. (c) Let the list price of the watch (ekuk fd ?kM+h

dk vafdr ewY;) = 100 units

selling price after discount (NwV ds ckn foØ;

ewY;)

= 100 × 
90

100
 = 90 units

cost price (Ø; ewY;) = S.P × 
100

100 + P%

= 90 × 
100
120

 = 90 × 
5
6

units

According to question,

90 × 
5
6

 units = Rs. 450

1 units = 
450 × 6
90 × 5

 = Rs. 6

100 units = Rs. 600

111. (d) Marked price (vafdr ewY;)
= Rs. 480

Selling price after 10% discount (10» dh

NwV ds ckn foØ; ewY;)

= Rs. 480 × 
90

100
 = Rs. 432

Cost price (ewY;)

= 432 × 
100

100 + 8%
 = 432 × 

100
108

= Rs. 400

If no discount then selling price (;fn dksbZ

NwV ugha nh tkrh gS rks foØ; ewY;)
= Marked price = Rs. 480

gain percent (izfr'kr ykHk)

= 
480 – 400

400
×100 = 

80
400

×100 = 20%

Alternate


100 – D% CP

=
100 + P% MP

CP 100 – 10 90 5
= = =

MP 100 + 8 108 6

If no discount then M.P (;fn dksbZ Hkh NwV ugha

nh tkrh gS rks vafdr ewY;) = S.P
 CP = 5, SP = 6

Gain (ykHk)%

= 
6 – 5

5
×100

= 
1
5

×100 = 20%

112. (a)
CP 100 – D%

=
MP 100 + P%

= 
100 – 5 95

=
100+4.5 104.5

CP 950 190
= =

MP 1045 209

Now,
209 units = 275

1 unit = 
275
209

190 units = 
275×190

209
 = Rs. 250
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113. (d)
CP 100 – D%

=
MP 100 + P%

= 
100 – 16
100 + 5

= 
84
105  + 21

Required percentage (vHkh"V izfr'kr)

= 
21
84

×100 = 25%

(In such type of questions, use the above

formula to solve our valuable time) (bl

izdkj ds iz'uksa esa vius cgqewY; le; ds fy, Åij fn,

x, rjhds dk bLrseky djsaA)
Alternate:

Discount (NwV) = 16% = 
16
100

= M.P = 100 S.P = 84

and profit (ykHk) = 5%

= 
Profit5 1

=
C.P100 20





 S.P = 20 + 1 = 21
Now
M.P S.P C.P
100 84 21×4
20×4 = 80
(S.P must be same in both cases, make

S.P equal) (nksuksa fLFkfr;ksa esa foØ; ewY; dks cjkcj

djsaA)

Required percentage (vHkh"V izfr'kr)

= 
100 – 80

80
×100 = 

20
80

×100

= 25%

114. (b) Cost price of the article (oLrq dk Ø; ewY;)
Rs. 8000

Profit (ykHk) = 12%

S.P of the article (oLrq dk foØ; ewY;)

= C.P × 
100 + P%

100

= 8000 × 
112
100

 = Rs. 8960

Discount = M.P – S.P
= 11200 – 8960 = Rs. 2240

Let the discount percentage (ekuk fd NwV

d k i zfr ' kr )  = x%


11200 × 

100
x

= 2240

x = 
2240 ×100

11200
 = 20%

Alternate :

100 – D% CP
=

100 + P% MP

100 – 5
=

100 +12 7
x

100 – 5
=

112 7
x

700 – 7x = 560
7x = 700 – 560 = 140
x = 20%

115. (a) C.P = 64% of M.P

CP 64 16
= =

MP 100 25

100 – D% 16
=

100 + P% 25

100 – 12% 16
=

100 + P% 25

88 16
=

100 + P% 25

100 + P% = 
88 × 25

16
 = 137.5

P% = 137.5 – 100 = 37.5%

116. (c) Let the marked price (ekuk fd vafdr ewY;)
= 100 units

100

5% 6%

95 94

1 unit

1 unit = 15
100 units = Rs. 1500

117. (d) Let the marked price of T.V.

(ekuk fd Vhoh dk vafdr ewY;) = 100 units
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100

20% 25%

80 75

5 units

5 units = 500
1 unit = 100
80 units = 80 × 100 = Rs. 8000

118. (b) Change discount and profit % in the ratio

(NwV rFkk ykHk izfr'kr dks fHkUu ds :i esa fy[kus ij)

Discount % = 23% = 
23

100

Profit % = 10% = 
10

100

   = 
Profit1
C.P10





MP SP CP SP
100 77 10 11

1100

MP

:

:

847

SP

:

:

770

CP

77 units = 56

1 unit = 
56
77

1100 units 
56
77

×1100 = Rs. 800

119. (c) Sales tax is on SP (foØ; ewY; ij fcØh dj)
Let S.P = x

110
100

x
 = 500

x = 
5000
11

Discount = 500 – 
5000
11

= 
5500 – 5000 500

=
11 11

Discount percentage (izfr'kr NwV)

= 
Discount

M.P
×100 = 

500
11 ×100
500

= 
1
11

× 100 = 9
1
11

%

120. (b) Single equivalent discount for 10% and

10% (10» vkSj 10» ds nks Øfed NwVksa ds lerqY;

,d NwV)

= 10 + 10 – 
10 ×10

100

= 20 – 1 = 19%

121. (a) Selling price of the chair (dqlhZ dk foØ;

ewY;)

= 350 × 
75 90

×
100 100

= 
35 × 27

4
 = 236.25

Alternate :

Single discount for 25% and 10% (25»

vkSj 10» ds nks Øfed NwVksa ds lerqY; ,d NwV)

= 25 + 10 – 
25 ×10

100

= 35 – 2.5 = 32.5%

S.P of chair (dqlhZ dk foØ; ewY;) = (100 –
32.5)% × 350

= 
67.5
100

× 350 = Rs. 236.25

122. (d) Let the marked price (ekuk fd vafdr ewY;)
= Rs. x

 x × 
70 85

×
100 100

 = 476

x = 476 × 
100 100

×
70 85

= Rs. 800
123. (a) Single equivalent discount for 25% and

5% (25» vkSj 5» ds nks Øfed NwVksa ds lerqY; ,d

NwV)

= 25 + 5 – 
25 × 5
100

= 30 – 1.25 = 28.75%

124. (a) Cost price for the retailer ([kqnjk foØsrk ds
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fy, Ø; ewY;)

= 800 × 
90 85

×
100 100

+ 13

= 612 + 13 = Rs. 625
SP = 875

Profit% = 
875 – 625

625
×100

= 
250
625

×100 = 40%

125. (d) Equivalent discount (lerqY; NwV)

= 30 + 30 – 
30×30
100

= 60 – 9 = 51%

126. (b) Cost price for the retailer ([kqnjk foØsrk ds

fy, Ø; ewY;)

= 800 × 
75 85

×
100 100

= 510

127. (a) MP of book (iqLrd dk vafdr ewY;)= Rs. 320

SP after Ist discount (igyh NwV ds ckn foØ;

ewY;)

= 320 × 
90

100
Rs. 288

Final SP (vafre foØ; ewY; )= Rs. 244.80

Second discount (nwljh NwV)
= Rs. 288 – 244.80 = Rs. 43.2

Second discount(nwljh NwV)%

= 
43.2
288

× 100 = 15%

128. (c) Let the CP (ekuk fd Ø; ewY;)
= 100 untis
MP = 140 units

SP = 140 × 
85

100
 = 119

Profit % =
19

100
 = 100 = 19%

129. (c) Let the CP (ekuk fd Ø; ewY;) =100 units
MP = 120 units

SP = 120 × 
95

100

= 120 × 
19
20

 = 114

Profit% = 14%
Quick Alternate:

= 
100 – D% CP 100 5

= = =
100 + MP 120 6x

100 – 5 5
=

100 + 6x

95 5
=

100 + 6x

500 + 5x = 570
5x = 570 – 500 = 70
x = 14%

130. (a) Let the CP = 100 units
MP = 120 units

SP =120 ×
80

100
 = 96 units

There will be loss (gkfu gksxh)

Loss% =
100 – 96

100
×100= 4%

131. (c) Let the cost price (ekuk fd Ø; ewY;)= 100
units

Marked price (vafdr ewY;) = 125 units

SP =125 × 
90

100
= 112.5 units

Profit% = 
112.5 – 100

100
×100

= 12.5%
132. (a)

CP 100 – D% 100 – 12 88
= = = 44

MP 100 + P% 100 + 32 132




Required % =
44
88

×100 = 50%

133. (c) CP of shoes (twrs dk Ø; ewY;)

= Rs. 1200

SP of shoes (twrs dk foØ; ewY;)

= 1200 × 
112
100

Let MP of shoes (ekuk fd twrs dk vafdr ewY;)
= x
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x × 
84

100
 = 1200 × 

112
100

x = 
1200 ×112

84

= Rs. 1600

134. (c) Single equivalent discount (,d lerqY;

NwV)

= 
25 20×25

20+ – %
4 400

 
  

= 25%

Let CP of article (ekuk fd oLrq dk Ø; ewY;)
= Rs. 100

SP of article (oLrq dk foØ; ewY;)
= Rs. 120 (20% profit)

Let MP of article (ekuk fd oLrq vafdr ewY; )=
Rs. x

 x × 
75

100
 = 120

x = 
120 ×100

75
 = Rs. 160

Required percentage (vHkh"V izfr'kr)

= 
160 –100

100
× 100 = 60%

135. (a) Cost price of the article (oLrq dk Ø; ewY;)
= Rs. 170
Profit (ykHk) = 20%
Selling price of the article (oLrq dk foØ;
ewY; )

= 170 × 
120
100

Let Marked price (ekuk vafdr ewY; )
= Rs. x
Discount = 15%

x × 
85

100
 = 170 × 

120
100

x = 
170 ×120

85
 Rs. 240

Alternate:
CP 100 – D%

=
MP 100 + P%

= 
100 – 15 85

=
100 + 20 120

CP = Rs. 170
85 units = 170

1 unit = 
170
85

 = Rs. 2

120 units = Rs. 2 × 120
= Rs. 240

136. (b)  
100 – D% CP

=
100 + P% MP

CP 100 – 12 88
= = 22

MP 100 + 10 110




Required % =  
22
88

× 100 = 25%

137. (c) From the discount he buys the pen (mlus

NwV ij dye [kjhnh)
If marked price of book = Rs.

x (;fn iqLrd dk vafdr ewY; x gS)


16
100

× x = 80

x = Rs. 500

Now, the pay for the book (iqLrd ds fy,

fd;k x;k Hkqxrku)

 = 500 × 
84

100
 = Rs. 420

138. (c) Let Marked price (ekuk fd vafdr ewY;)

= Rs.x

x × 
88
10

= 880

x = Rs. 1000

139. (d) Equivalent discount (lerqY; NwV)

= 
10 × 6

10 + 6 –
100

 
   %

= 16 – 0.6 = 15.4%

Let Marked price (ekuk fd vafdr ewY;)
= Rs. x

x × 
84.6
100

 = 846

x = 
846 × 100

84.6
 = Rs. 1000

140. (a) Change the percentage in fraction.

(izfr'kr dks fHkUu esa cnys)

16
2
3

% = 
Discount1
MP6





SP = 5

25% = 
Discount1
MP4




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SP = 3
MP SP

×2 ×2

×3 ×3

MP SP

6 5 = 10
1 unit

4 3 = 9




1 unit = 600
10 units = Rs. 600 × 10

      = Rs. 6000

141. (c) Let the marked price (ekuk fd vafdr ewY;)
= Rs. x
Discount = 7.5%

x × 
92.5
100

 = 740

x = 
740 ×100

92.5

= Rs. 800

142. (c) SP = 150 × 
80

100
 = Rs.120

143. (c) Discount = 6000 – 5500 = Rs.500

Discount% = 
500
6000

×100

= 
50 25 1

 = 8 %
6 3 3



144. (c) MP × 
70

100
= Rs. 6580

MP =
6580 ×100

70

= Rs. 9400
145. (d) Discount = 800 – 736 = 64

Discount% = 
64
800

×100 = 8%

146. (b) Interest at 5% for two years (2 o"kZ ds fy,

5% fd nj ls C;kt )= 5×2=10%
Sum = (100+10)% = 110%
10% = 15

1% = 
15
10

110% = 165

Required sum (vHkh"V ;ksx) =Rs.165

147. (c) Single equivalent discount (,d lerqY;

NwV)

= 
50×40

50 + 40 – 
100

 
   % = 70%

Required price of shirt (deht dk vHkh"V

ewY; )
= (100 – 70)% of x
= 30% of x

148. (d) Total CP = 500 ×10 + 2000
= Rs. 7000
Total SP = Rs. (5 × 750 + 5 × 550)
= Rs. 6500

Loss% = 
7000 – 6500

7000

500
7000

  × 100

= 
50 1

=7 %
7 7

149. (d) True Discount ('kq¼ NwV)

= 
Banker's Discount × 100

100 + rate × time
True Discount ('kq¼ NwV)

= 

216 ×100
6

100 +16×
12

= 
21600
108

 = Rs. 200

150. (d) C.P. of tape recorder (VSi fjdkMZj dk Ø;
ewY;)
= Rs.1500
M.P. of tape recorder (VSi fjdkMZj dk vafdr
ewY;)
= 120% of 1500

= 
120
100

×1500

= Rs. 1800

S.P. of tape recorder (VSi fjdkMZj dk foØ;

ewY;)
= 108% of 1500

= 
108
100

×1500

= Rs. 1620

Rate of Discount (NwV dh nj)

= 
1800 – 1620

1800
×100%

= 
180
1800

×100%

= 10%


